WD TIVRIDT VYR YR nnan noon MY AT TINHH My B

29.2.2
14b (23 mwp) 2 150 (71107 20152)

2,1 87771992 1NIYA 1PN NN NYDY NY2 DNYR NIXN R 1HYA NvYA NN 5N ATIRD NIE YY 2PM NI NTIR YY DR .

I 21 mwn: symbiosis of onYn 'nw or 2 B750 ONY 17O
a  nMn e if one becomes &Xnv, both are burned — because ;YN Max 129p PR
b ©mon: only the 8nv one is burned
I Analysis of the dispute
a &7 dispute is only np»ir 2199 — whether the px effects n%7 for things that are eaten
i But: if one became &nv after np>, they agree that the v loaf is eaten
ii ~ Challengel: dispute (in Xn»M1) is also re: N111Y »>1a (if one became Rnv, if the other is burnt)
iii ~ Challenge2: nmi» "1 holds that even if only 1 vaw is &nY (n"0) — 8”p is performed nNrmMvV1 -
1  Reason: ;mon ¥"p pr (no pox issue here)
iv  Challenge3: in our mwn, N1’ "7 should state that marn Y N¥IN pr¥n PR, instead of ;YN Max 127p PR
b v “r we have the explicit reason — p19n Max 129p PRY (i.e. has nothing to do with the function of the y»x)
I’y mwn: relationship between nn and its loaves; between Dw13 and onYn mw
a  Rule: the 127 is 93an the loaves, not vice-versa
b Example: if he slaughtered the nTin to eat from it the next day, both nTin and loaves are n>nan;
i But if: he slaughtered the nTin to eat from the loaves the next day — only loaves are n9nan, 12p is still 7w
¢ Proposal: the reason for the one-sided relationship (in re: n'Tn) is per 8113 "1 — onY is called "nmn” (v. 1) — not vice-versa
i Block: onon 'nw aren’t called “nyway”
d  Rather: the loaves (in each case) are sanctified by narn no'nw, not vice-versa
i Justfication: if we only had nTin, X”10 since N7 *nnY aren’t “lifted” with 127p, they don’t affect it
1 But: nx¥y »w1), which must be lifted with onbn 'nw, may have symbiotic relationship — %"np
IV 8"7's question of 27 (versionl): if vnw the nTIN intending to eat N1 of it and onY, is it Y3an the bread (certainly not Y191 the nar)
a  Ansswer: here too, the bread is Y191, but not the animal
b Challenge: shouldn’t the bread be 7w via 1"p;
i If: asuccessful %91 (INN5 NN N1IRY N VNY) doesn’t generate serlf-5109 (animal still 1w3)
ii  Then: certainly in a case where he was unsuccessful (here —included nar, but it’s still 97w2) — bread is not Y1ann
1 Challenge (27): we don’t use v"p that way
2 Support: case where someone planted grains in other’s “young (1710)” vineyard
(a) Ruling: only the grains are MOR; not the vineyard — but v”p the grains should be 7mn
3 Block: in that case, it’s all 13277 (only grains that are “rooted”) , they “fine” perpetrator
V  X"7's question of 27 (version2): same back-and-forth, but question was asked about n'wa> and nn%n 'nv instead
a  Note: those who read this 8101 89pw about "N would certainly apply the ruling to nno>n 'nw/o»was
b But: those who read it about nnn 'nw/p*w1> wouldn’t apply it to nTIn —in case of onn 'nw, both needed for nann
VI Alternate version of question: if vnw with intent to eat y1ann the next day —does "12an” mean other w13 ("w3) or bread (Y19)
a  Answer: from n:1—-"11n” means the other w1
b Block: perhaps in that case he explicated “w23 y12n”
VII 7 mwn: relationship between 127p and its 0’301 (only according to n™, who allows for s to affect n¥ov)
a  Rule: the 127p is 9301 the wine (after N7 *932 V17°P); not vice-versa
b Example: if he slaughtered the 129p with intent to eat from it 11019 pin, both it and the n201 are o%man
i But if: he slaughtered the 127p with intent to pour the n’ov1 the next day, only D’3v1 are D9man; 127p is still w3
¢ Background: n™ allows for 9w to affect 0’303, since narn o7 is Pnn them
i Counter (p’nn): »2v1 may be brought days later
ii  Response (n”7): only applies possibility of 913’2 to 0’501 that come with nar
1 Counter: they could be applied to another j17p
d  Explanation (837): n" holds that 0’501 are defined at moment of nvnY, akin to NN "N
i Note: parallel dispute n'nan/n™ re: Y7 YW 1NY NY — (YNEN DYVR:NIT; PV NHY::DIIDI)
1  And: parallel give-and-take
2 And: same explanation by X171 of n”’s position - 1w 15 is defined at moment of nwrn NNV
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